
EOD
SEE PLAN

FOR SLAB EL. &
REINF. SEE PLAN

W-BEAM
SEE PLAN

8" CMU WALL FOR
REINF. SEE PLAN

BOND BEAM
w/2-#5 CONT. AT
EACH FLOOR

CLOSURE PL.

L6x6x3/8x8" LONG W/2" VERT. SLOTTED
HOLES.  PROVIDE 2-3/4" DIA. EPOXY BOLTS
WITH 5" MIN. EMBEDMENT SPACED
AT 48" O.C.

LIGHT GA. CONT.
CLOSURE PL.

FLOOR JOIST
SEE PLAN

ELEVATOR SHAFT

S
E
E
 P

L
A
N

EOD
SEE

PLAN

FOR SLAB EL. &
REINF. SEE PLAN

W-BEAM
SEE PLAN

8" CMU WALL FOR
REINF. SEE PLAN

BOND BEAM
w/2-#5 CONT. AT
EACH FLOORL6x6x3/8x8" LONG W/2" VERT. SLOTTED

HOLES.  PROVIDE 2-3/4" DIA. EPOXY BOLTS
WITH 5" MIN. EMBEDMENT SPACED
AT 48" O.C.

CLOSURE PL.

FLOOR JOIST
SEE PLAN

ELEVATOR SHAFT

OPEN
CMU WALL
SEE PLAN

CONT BOND BEAM
W/2-#5 CONT.

CONT POUR
STOP TYP.

PL2"x¼" CONT. W/ 
3/8"øx4" LG HD STUDS
@ 24" O.C. T&B (TYP
ALL 4 SIDES)

SEE PLAN TYP.

WELD DECK TO
PL. AT 6" O.C.

OPEN

REINF. CMU WALL
SEE PLAN

BOND BEAM WITH 2-#5
CONT. EXTEND 2'-0"
EACH SIDE OF BEAM

W8 BEAM SEE PLAN TYP.

FOR TOP  OF STEEL
EL. SEE PLAN TYP.

CONT POUR
STOP TYP.

FOR SLAB EL. THICKNESS
AND REINF, SEE PLAN TYP.

GROUT SOLID

5
16 x 3" LONG

.

S
E
E
 P

L
A
N

EOD SEE PLAN

2
 1

/
2
"2"

.

SECTION AT ELEVATOR SILL

L4x4x3/8x -- " LG.
(VERIFY SIZE WITH 
ELEV. MANUF.)

1/2" DIA. EXP. ANCHOR AT 2'-0" O.C. 
(IN 1 1/2" VERT. SLOTTED HOLE) MIN. 
EMBED. LENGTH = 4" (INSTALLED BY 
MASON) 

FOR SLAB EL.
& REINF. SEE
PLAN

CL. STEEL BEAM

BOND BEAM
w/2-#5 CONT.

GROUT SOLID (TYP.)W-BEAM
SEE PLAN

GAGE METAL
CLOSURE

REF

NOTE:
COORD. BOT. OF RELIEVING
ANGLE W/ ARCH DWGS

SEE PLAN

E.O.S.FOR SLAB ELEV. 
THICKNESS & REINF. 
SEE PLAN

NOTE:  SEE PLAN FOR DECK DIRECTION

#5x6'-0" LG. @ 
12" o.c. TOP

L6x4x5/16 CONT. ANGLE 
W/ HORIZ. SLOTTED HOLES 
W/ 2- 3/4" DIA. SC BOLTS 
(GALV.) RELIEVING ANGLE. 
COORD. W/ ARCH. DWGS.

S
E
E
 A

R
C
H
.

V
A
R

IE
S

L6x4x5/16" (GALV.) RELIEVING ANGLE. 
COORD. W/ ARCH. DWGS.

WT6x13 x 6" (GALV.) 
@ 4'-0" o.c. MAX.

1/2" BENT PLATE
W/ 3/4" DIA.  x 6" 
LG. STUDS @ 
2'-0" O.C.  (TYP.)

1-#4 CONT.

2- 3/4" DIA. SC (SLIP CRITICAL) BOLTS (TYP.)

L2 1/2 x 2 1/2 x 1/4" KICKER
AT 4'-0" o.c.

C6x8.2 HANGER @ 4'-0" o.c. MAX. 
W/ VERTICAL SLOTTED HOLES

1/2" FITTED STIFF. 
PLATE FOR HANGER

PL. 1/2"X 9" W/ 2-3/4" DIA. S.C. 
(SLIP CRITICAL) BOLTS IN HORIZ. 
SLOTTED HOLES

11"

3 1/4"

7 3/4"

REF

NOTE:
COORD. BOT. OF RELIEVING
ANGLE W/ ARCH DWGS

SEE PLAN

E.O.S.FOR SLAB ELEV. 
THICKNESS & REINF. 
SEE PLAN

NOTE:  SEE PLAN FOR DECK DIRECTION

#5x6'-0" LG. @ 
12" o.c. TOP

L6x4x5/16 CONT. ANGLE 
W/ HORIZ. SLOTTED HOLES 
W/ 2- 3/4" DIA. SC BOLTS 
(GALV.) RELIEVING ANGLE. 
COORD. W/ ARCH. DWGS.

S
E
E
 A

R
C
H
.

V
A
R

IE
S

L6x4x5/16" (GALV.) RELIEVING ANGLE. 
COORD. W/ ARCH. DWGS.

WT6x13 x 6" (GALV.) 
@ 4'-0" o.c. MAX.

1/2" BENT PLATE W/ 3/4" DIA.  
x 6" LG. STUDS @ 
2'-0" O.C.  (TYP.)

1-#4 CONT.

2- 3/4" DIA. SC (SLIP CRITICAL) BOLTS (TYP.)

L2 1/2 x 2 1/2 x 1/4" KICKER
AT 4'-0" o.c.

1
2

C6x8.2 HANGER @ 4'-0" o.c. MAX. W/ 
VERTICAL SLOTTED HOLES

1/2" FITTED STIFF. PLATE FOR
HANGER/

TYP.
AFTER

ADJUSTMENT

PL. 1/2"X 9" W/ 2-3/4" DIA. S.C. 
(SLIP CRITICAL) BOLTS IN HORIZ. 
SLOTTED HOLES

11"

7 3/4"

3 1/4"

REFREF

PLAN

SEE

SEE PLAN

. 
  
8
" .

SLOPE DN 1/4"/12"

L4x4x5/16" CONT

1/4" 4-12

1/4" 4-12
JOIST (SEE PLAN)

W8

W8

1 1/2" ROOF DECK
(SEE PLAN)

T.O.C. FLOOR SLAB
(FOR EL SEE PLAN)

W14 (SEE PLAN
FOR LOCATION)

W8

W8 (EA END OF BALCONY)

TYP EA
SIDE

PC WT6x9.5 CONT
FOR JOIST SUPPORT
(CUT TO FIT)

9A
S5.01

CHANNELS AND 
GUARDRAIL-
SEE ARCH DWGS

3/8" FITTED PL. -
COORDINATE LOCATIONS 
W/ARCH. DWGS. TO 
MATCH POST LOCATIONS

RIGID INSULATION
AA

BB

15'-4 1/2"   (NTS)

PLAN

SEE

±1
4
"

W14 (SEE PLAN
FOR LOCATION)

.
SLOPE DN 1/4"/12"

'W' BM 
(SEE PLAN)

JOIST (SEE PLAN)

JOIST (SEE PLAN)

EXTEND JOIST SEAT AS
REQ'D TO SUPPORT SLAB

1 1/2" ROOF DECK

FITTED 
STIFF. PL

1/2" PL's

ERECTION 
BOLT

RIGID 
INSULATION

#4@18" O.C.

2-#4 CONT

REFREF
3" FLOOR SLAB4" FLOOR SLAB

.

2 1/2" JOIST SEAT 3 1/2" JOIST SEAT
(THIS END ONLY)

CLOSURE STRIP (CONT)

JOIST (SEE PLAN)JOIST (SEE PLAN)

'W' BM (SEE PLAN)

REFREF

3" FLOOR SLAB4" FLOOR SLAB

(O
N
 4

"  
S
L
A
B

 S
ID

E
)

 
16

"

1 
1/

2
"

4
"

T.O.C. FLOOR SLAB
(SEE PLAN)

JOIST (SEE PLAN)

CLOSURE STRIP

1"

(O
N
 3

"  
S
L
A
B

 S
ID

E
)

 
17

"

1/4 4-12

1/4 4-12

W8 (SEE PLAN)

WT6x9.5 (CUT TO FIT)

JOIST (SEE PLAN)

2.5K2 JOIST
(SEE PLAN FOR LOCATIONS)

JOIST (@ SECT 9 (SIM))

5"

L8x4x3/8 (LLV)x 0'-10" LG W/2-1/2"Ø 
THRU BOLTS IN LG VERT SLOTTED 
HOLES (EA SIDE OF HSS)

HSS (4 TOTAL)
SEE PLAN.
COORD. PLACEMENT
W/ ARCH. DWGS.

3/8" PL (TYP)

1"

2-L2x2x5/16

W BM (SEE PLAN)

JOIST (SEE PLAN)

REF

CL HSS

TOC 2ND FLOOR

1
1

BB

PLAN

SEE

±1
4
"

SLOPE DN 
1/4"/12"

'W' BM 
(SEE PLAN)

JOIST 
(SEE PLAN)

1 1/2" ROOF 
DECK

FITTED 
STIFF. PL

CONT. L4x4x1/4
(BETWEEN JOISTS)

RIGID 
INSULATION

#4@18" O.C.

2-#4 CONT

DWGS.

SEE ARCH.

BRICK - SEE
ARCH. DWGS.

LOOSE LINTEL @
WINDOW HEAD

1/2" PLATE w/VERT. &
HORIZ. SLOTTED
HOLES @ 48" O.C. MAX.

1/2" DIA. ERECTION BOLTS

SLAB ON DECK
- SEE PLAN

JOIST -
SEE PLAN

L1 1/2x1 1/2x1/4
@ EA. JOIST

REF

1/4

1/41/4

AFTER
LEVEL

L6x4x3/8 - LLV
(GALVANIZED)

1/4
TYP

5/8" TYP.

L

No. 9477

DEICEN S

A L
NG

I N
E

E
R

F

E S
S

NI O
O

R
P

E

RIMANTAS

M.

VEITAS

S
T

AT E O F
AM

I

E
N

4
8
 U

n
io

n
 W

h
ar

f 
  
P

o
rt

la
n
d
, 
M

ai
n
e 

0
4
1
0
1

(2
0
7
) 

7
7
2
-6

0
2

2
  
  
F

ax
 (

2
0
7

) 
7

7
2
-4

0
5
6

D
at

e:
S

ca
le

:
P

ro
je

ct
:

A
rc

h
it

ec
t:

C
o
n

su
lt

an
t:

P
re

p
ar

ed
 F

o
r:

R
ev

is
io

n
s:

P
.O

. 
B

o
x
 3

9
4

T
o
p
sf

ie
ld

, 
M

A
 0

1
9
8
3

A
s 

in
d

ic
at

ed

S5.01

S
E

C
T

IO
N

S

JU
L

Y
 2

0
1

7
T

H
A

M
E

S
 S

T
R

E
E

T
C

O
N

D
O

M
IN

IU
M

2
0
 T

h
am

es
 S

tr
ee

t,
 P

o
rt

la
n
d

 M
ai

n
e

E
ss

ex
N

o
rt

h

P
o
rt

la
n
d

 L
L

C

SECTION
 3/4" = 1'-0"S5.01

1 SECTION
 3/4" = 1'-0"S5.01

2

SECTION
 3/4" = 1'-0"S5.01

5
SECTION
 3/4" = 1'-0"S5.01

6

SECTION
 3/4" = 1'-0"S5.01

4

SECTION
 3/4" = 1'-0"S5.01

7 SECTION
 3/4" = 1'-0"S5.01

8

SECTION
 3/4" = 1'-0"S5.01

9
SECTION
 3/4" = 1'-0"S5.01

10

SECTION
 3/4" = 1'-0"S5.01

11

SECTION
 1" = 1'-0"S5.01

12SECTION
 1 1/2" = 1'-0"S5.01

9A SECTION
 1" = 1'-0"S5.01

13 SECTION
 3/4" = 1'-0"S5.01

14

SECTION
 3/4" = 1'-0"S5.01

3

1
0
6
/3

0
/ 1

7
S

te
el

 B
id

 -
 A

d
d
en

d
u
m

 #
1

2
0
7
/2

1
/ 1

7
B

ID
 S

E
T

4
0
8
/1

5
/ 1

7
A

d
d
en

d
u
m

 #
2

5
0
8
/3

1
/ 1

7
A

d
d
en

d
u
m

 #
3

7
0
9
/1

5
/ 1

7
R

ev
is

i o
n
s


